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Question 1

The Standards of Professional Conduct explicitly outlines responsibilities to four groups. Which of the following is NOT a group mentioned in that list?

A)	The Federal Reserve.
B)	The investing public.
C)	The profession.
Question 2
An analyst has a large personal holding of a security, and he has just determined that market conditions warrant selling this security. The analyst contacts clients who have a position in the security and advises them to sell some or all of the security. After waiting 24 hours, he sells the security from his personal accounts. This is:

A)	a violation of Standard VI(B), Priority of Transactions.
B)	congruent with Standard VI(B), Priority of Transactions.
C)	a violation of Standard III(B), Fair Dealing.
Question 3
According to the Code of Ethics, when practicing in a professional and ethical manner the goal is to:

A)	increase membership in CFA Institute.
B)	reflect credit on members and the profession.
C)	resolve conflicts between clients and employers.
Question 4
A CFO who is a CFA Institute member is careful to make his press releases—some of them containing material and previously undisclosed information—clear and understandable to his readers. While writing a new release, he often has his current intern proofread rough drafts. He also sends electronic copies to his brother, an English teacher, to get suggestions concerning style and grammar. With respect to Standard II(A), Material Nonpublic Information, the CFO is:

A)	not in violation of the Standard.
B)	only in violation by e-mailing the pre-release version to his brother but not the intern, because the intern is in essence an employee of the firm.
C)	violating the standard by either showing the pre-release version to his intern or sending it to his brother.
Question 5
The basic rationale for switching from the Prudent Man Rule (PMR) to the Prudent Investor Rule (PIR) is that the PMR:

A)	views the decision to invest in each asset in isolation, while the PIR recognizes the major tenets of modern portfolio theory and views the decision to invest in a given asset relative to its impact on the portfolio as a whole.
B)	was permitting fiduciaries to take risks that were deemed unacceptable when reviewed in court.
C)	is process-oriented while the PIR is a results-oriented framework.
Question 6 –
Patricia Spraetz is the chief financial officer and compliance officer at Super Selection Investment Advisors.  Super Selection is a medium-sized money management firm which has incorporated the CFA Institute Code of Ethics and Standards of Practice into the firm’s compliance manual.

Karen Jackson is a portfolio manager for Super Selection.  She is not a CFA charterholder.  Jackson is friendly with David James, president of AMD, a rapidly growing biotech company.  James has provided Jackson with recommendations in the biotech industry, which she buys for her own portfolio before buying them for her clients.  For three years, Jackson has also served on AMD’s board of directors but has never notified Super Selection of this fact.  She has received options and fees as compensation.

Recently, the board of AMD decided to raise capital by voting to issue shares to the public.  This was attractive to board members (including Jackson) who wanted to exercise their stock options and sell their shares to get cash.  When the demand for initial public offerings (IPO) diminished, just before AMD’s public offering, James asked Jackson to commit to a large purchase of the offering for her portfolios.  Jackson had previously determined that AMD was a questionable investment but agreed to reconsider at James’ request.  Her reevaluation confirmed the stock to be overpriced, but she nevertheless decided to purchase AMD for her clients’ portfolios.

 Which of the following statements is FALSE?

A)	Jackson violated Standard IV(B) regarding Disclosure of Additional Compensation by not disclosing additional compensation in the form of cash and stock options received from AMD, as its board member to her employer.
B)	Jackson did not violate Standard III(A) on Fiduciary Duty to clients because she was bound by her fiduciary duty to AMD and its stockholders as a board member. Therefore, when she reversed her decision to buy AMD shares for Super Selection’s clients, portfolios on James’ request, her obligation to AMD took precedence.
C)	Jackson violated Standard VI(A) regarding Conflicts of interest by not disclosing her board membership and ownership of stock options to her employer.
Question 7
When comparing the fiduciary responsibility under the Prudent Investor Rule (PIR) with that under the Prudent Man Rule (PMR), which of the following is TRUE? The PIR does:

A)	permit the delegation of investment responsibility to third parties; the PMR does permit the delegation of investment responsibility to third parties.
B)	not permit the delegation of investment responsibility to third parties; the PMR does permit the delegation of investment responsibility to third parties.
C)	permit the delegation of investment responsibility to third parties; the PMR does not permit the delegation of investment responsibility to third parties.
Question 8
A dependent variable is regressed against three independent variables across 25 observations. The regression sum of squares is 119.25, and the total sum of squares is 294.45. The following are the estimated coefficient values and standard errors of the coefficients.

Coefficient	Value	Standard error
1	2.43	1.4200
2	3.21	1.5500
3	0.18	0.0818
What is the p-value for the test of the hypothesis that all three of the coefficients are equal to zero?

A)	Between 0.025 and 0.05.
B)	lower than 0.025.
C)	Between 0.05 and 0.10.
Question 9 –
David Black wants to test whether the estimated beta in a market model is equal to one. He collected a sample of 60 monthly returns on a stock and estimated the regression of the stock’s returns against those of the market. The estimated beta was 1.1, and the standard error of the coefficient is equal to 0.4. What should Black conclude regarding the beta if he uses a 5% level of significance? The null hypothesis that beta is:

A)	equal to one is rejected.
B)	equal to one cannot be rejected.
C)	not equal to one cannot be rejected.
Question 10 –
The table below shows the autocorrelations of the lagged residuals for the first differences of the natural logarithm of quarterly motorcycle sales that were fit to the AR(1) model: (ln salest − ln salest − 1) = b0 + b1(ln salest − 1 − ln salest − 2) + εt. The critical t-statistic at 5% significance is 2.0, which means that there is significant autocorrelation for the lag-4 residual, indicating the presence of seasonality. Assuming the time series is covariance stationary, which of the following models is most likely to correct for this apparent seasonality?

Lagged Autocorrelations of First Differences in the Log of Motorcycle Sales
Lag	Autocorrelation	Standard Error	t-Statistic
1	−0.0738	0.1667	−0.44271
2	−0.1047	0.1667	−0.62807
3	−0.0252	0.1667	−0.15117
4	0.5528	0.1667	3.31614
A)	ln salest = b0 + b1(ln salest − 1) − b2(ln salest − 4) + εt.
B)	(ln salest − ln salest − 4) = b0 + b1(ln salest − 1 − ln salest − 2) + εt.
C)	(ln salest − ln salest − 1) = b0 + b1(ln salest − 1 − ln salest − 2) + b2(ln salest − 4 − ln salest − 5) + εt.
 	 	 	 	 
Question 11 –
Which term is least likely to apply to a regression model?

A)	Goodness of fit.
B)	Coefficient of variation.
C)	Coefficient of determination.
Question 12
A time series that has a unit root can be transformed into a time series without a unit root through:

A)	calculating moving average of the residuals.
B)	mean reversion.
C)	first differencing.
Question 13
An analyst is estimating whether company sales is related to three economic variables. The regression exhibits conditional heteroskedasticity, serial correlation, and multicollinearity. The analyst uses Hansen’s procedure to adjust for the standard errors. Which of the following is most accurate? The:

A)	regression will still exhibit multicollinearity, but the heteroskedasticity and serial correlation problems will be solved.
B)	regression will still exhibit heteroskedasticity and multicollinearity, but the serial correlation problem will be solved.
C)	regression will still exhibit serial correlation and multicollinearity, but the heteroskedasticity problem will be solved.
Question 14
A dependent variable is regressed against a single independent variable across 100 observations. The mean squared error is 2.807, and the mean regression sum of squares is 117.9. What is the correlation coefficient between the two variables?

A)	0.55.
B)	0.30.
C)	0.99.
Question 15
Amelia Andrews, CFA, is the current head of the California Utilities Commission, the agency which has regulatory authority over all utilities providers in the state of California. Andrews has been head of the agency for three years, before which she had spent her twenty year career in various roles at California Electric (CE), the largest producer and distributor of electricity to residential customers in California. Presently, legislators in the state of California are struggling with the issue of how to balance rising consumer demand for electricity with an obsolete production infrastructure that is already producing at levels approaching full capacity. Andrews has scheduled a joint meeting at the Commission’s office with state legislators, consumer representatives, and utilities providers to address the issues.

At the meeting, Andrews greets several of her former co-workers, who are still employed by California Electric. The Chief Executive Officer of CE is Andrews’s former boss and mentor, as well as occasional golf partner. The CEO of CE is at the meeting to acknowledge consumer concerns about rising electricity prices, but also to explain that CE cannot make any price concession because their existing plants are nearly at full production capacity and new, more efficient plants are several years away from completion. CE’s proposal is to maintain the current strategy of passing on gradual price increases to consumers, which will then level off in the next few years as new plants are brought into production. This would allow CE to maintain its current profits margins while still providing excellent service to its customers.

Andrews introduces herself to the representatives of the consumer interest group, which has recently formed in response to the rise in utilities rates. The consumer interest group is represented by three concerned citizens from different cities across the state who volunteered to attend the meeting to voice the opinions of the consumers they represent. Their main goal is to put pressure on the regulatory commission to hold electricity rates constant until the end of the next year, stating that electricity providers have experienced years of profitability and now should be willing to make concessions to the consumers. Also, the representatives will inform meeting participants if consumer demands are not met, consumers are willing to switch to other “alternative” sources of power, even if that means a decrease in the quality of service or a slight increase in price.

Andrews also welcomes to the meeting several California state legislators who are in attendance. One of them, Louis Briggs, has known Andrews professionally for many years and is the person who had originally proposed Andrews for the job as head of the California Utilities Commission. Briggs had sent a note to Andrews before the meeting to say that he would like to help facilitate a smooth negotiation process at the meeting in anticipation of upcoming state-wide elections. He expresses to Andrews that no solution will be attractive to all interested parties, and that each of them should be willing to give up some ground.

After participating in a preliminary discussion among the representatives of the three interested parties and listening to each of their concerns, Andrews proposes yet another possible course of action: deregulation. Andrews argues that some degree of deregulation for the utilities industry in California could have many advantages over the current system. She requests that further discussions regarding the pros and cons of her proposal be held.

Part 1)
In an industry in which a natural monopoly may exist, such as the electric utilities industry, regulators generally attempt to set industry prices at a level where:

A)	each participant earns a competitive return on investment.
B)	price equals long-run average cost.
C)	participants cannot engage in predatory pricing practices.
Part 2)
In general, regulators of a specific industry are held accountable by three separate interested parties, which least likely includes which of the following groups?

A)	lobbyists and special interest groups.
B)	legislators.
C)	customers of the industry.
Part 3)
The theory that assumes that despite the original purpose behind its establishment, a regulatory agency will be influenced or even possibly controlled by members of the industry that is being regulated is called the:

A)	capture hypothesis.
B)	share-the-gains, share-the-pains theory.
C)	feedback effect.
Part 4)
California Electric’s proposed plan to maintain the current program of passing on gradual price increases to consumers can best be described as:

A)	rate-of-return regulation.
B)	natural monopoly regulation.
C)	cost-of-service regulation.
Part 5)
If consumers change their electricity consumption in response to the California Utilities Commission’s proposal to increase the rates providers are permitted to charge, it can best be described as a:

A)	creative response.
B)	feedback effect.
C)	positive effect of deregulation.
Part 6)
According to the theory of contestable markets, Andrews’ proposal of deregulation of the industry should produce which of the following outcomes?

A)	An increase in market efficiency due to lower barriers to entry and exit.
B)	A short-term increase in the level of quality of service because of increased competition.
C)	Unemployment rates will fall as new job openings are created in the industry.
Question 16
George Gao, CFA, is a currency portfolio manager who believes that the asset market approach can be applied to make short run forecasts of exchange rates based on the long-term effects of the changes in a country’s money supply. Recently, Japan unexpectedly reduced its money supply by 5%, increasing interest rates from 1.5% to 2.0%. Japan’s current spot rate is 108.74 Japanese yen per United States dollar (JY/USD). George believes that it will take two years for the effects of the decrease in the money supply to reduce the inflation rate in Japan. The current interest rate in the U.S. is 1.5%. Based on George’s calculations, the decrease in the money supply will translate to an immediate spot exchange rate of:

A)	115.59 JY/USD.
B)	103.30 JY/USD.
C)	102.29 JY/USD.
Question 17
GTH Corporation has just purchased 18% of the common stock of Pittor Corporation, one of their major suppliers, making GTH the largest single shareholder in Pittor. The primary motivation for the purchase is that managerial problems at Pittor have resulted in quality control difficulties, thereby affecting the reliability of several critical component parts for GTH products. At the time of the purchase, GTH management announced they plan to be an active and significant influence on Pittor so the quality problems can be resolved. Given these circumstances, the accounting method used to record the intercorporate investment will most likely be the:

A)	consolidation method
B)	cost or market method.
C)	equity method.
Question 18
Company X owns 40% of company S and currently accounts for the investment using the equity method. Below are the 2002 balance sheets and income statements for companies X and S, in thousands of dollars.

Company	S	X
< >>	< >>	< >>
Sales	200	1,000
Cost of goods sold (COGS)	140	700
Operating expenses	20	100
Income from investment in S	0	12
Earnings before taxes (EBT)	40	188
Taxes	10	47
Net income	30	141
< >>	< >>	< >>
Cash	10	50
Accounts receivable	20	100
Inventories	20	100
Other current assets	20	100
Property, plant, and equip.	130	610
Investment in S	0	40
Total assets	200	1,000
< >>	< >>	< >>
Liabilities	100	500
Stockholders’ equity	100	500
Company X purchases 25% of the output of company S, and $4,000 of the receivables of company S are from company X. If the investment is treated using the proportionate consolidation method, the COGS for company X will be:

A)	$742,000.
B)	$756,000.
C)	$736,000.
Question 19
On December 31, 2008 Company P invests $5,000 in Company S in exchange for 25% of the company. During 2009, Company S earns $2,000 and pays a dividend of $500. If Company P uses the equity method of accounting, what values will be reported on the balance sheet and income statement? How much cash will be recognized from the investment?

A)	
Balance Sheet	Income Statement	Cash
$5,500	$0	$0
 

B)	
Balance Sheet	Income Statement	Cash
$5,375	$500	$125
 

C)	
Balance Sheet	Income Statement	Cash
$5,375	$125	$125
 

Question 20
In reality, what best describes the real value of non-monetary assets and liabilities in a hyperinflationary environment?

A)	Typically not affected because their local currency-denominated values increase to offset the impact of inflation.
B)	Typically not affected because their local currency-denominated values decrease to offset the impact of inflation.
C)	All non-monetary accounts are re-measured at the current rate.
Question 21
A U.S. firm owns a foreign subsidiary in France. In 2002, sales were EUR 1,000,000 and the USD/EUR exchange rate was 1.0620. In 2003, sales were EUR 1,100,000 and the exchange rate was 1.1417. What is the impact of the change in the value of the USD on the parent company’s translated sales? Sales will:

A)	decrease by 7.5%.
B)	increase by 7.5%.
C)	increase by 18.25%.
Question 22
Wes Livingston is the founder and CEO of Bigwell Corporation. As there is an oil and gas concern in the U.S., Livingston is interested in Bigwell being acquired by a larger competitor and wants to have his company’s financial statements appear as attractive as possible to a potential suitor. In order to decrease the accumulated benefit obligation (ABO) of the company’s pension plan, which of the following changes in actuarial assumptions could be made?

A)	Decrease the rate of compensation growth.
B)	Decrease the discount rate.
C)	Increase the discount rate.
Question 23
Jill Brown, CFA, is preparing a research report on Kendall Koatings, a maker of paint and industrial insulators. She has learned that Kendall is trying to avert a strike. Contentious labor talks have been ongoing for months. The company is also lobbying the federal government for a tax break in an effort to fend off foreign competition. Most Kendall executives own substantial blocks of stock, and all of them receive at least half of their compensation in the form of stock options. Lastly, one of Kendall’s lines of credit is up for renewal, and the company is trying to negotiate better terms. Several of Kendall’s top managers have a history of manipulating financial results. Based on her observations, which action is Kendall most likely to take?

A)	Assume that equipment has a useful life of eight years, rather than the five years currently assumed.
B)	Treat all leases as operating leases.
C)	Recognize revenue early.
Question 24
Earlier this year, Barracuda Company issued 5,000 employee stock options. Recently, 2,000 options were exercised at a price of $10 per share. To avoid dilution, Barracuda purchased 2,000 shares at an average price of $12 per share. Barracuda reported both transactions as financing activities in its cash flow statement. For analytical purposes, what adjustment is necessary to better reflect the substance of the stock repurchase?

 	     Operating cash flow	       Financing cash flow
 

A)	
Decrease $4,000	No adjustment
 

B)	
No adjustment	Increase $4,000
 

C)	
Decrease $4,000	Increase $4,000
 

Question 25
The UNI Company Balance Sheet

As of December 31, 2002

(in millions)

 	2001	2002	 	 	2001	2002
Cash	$50	$60	Accounts payable	$100	$150
Accounts receivable	100	110	Long-term debt	400	300
Inventory	200	180	Common Stock	50	50
 	Retained earnings	400	500
Fixed assets (gross)	800	900	Total liabilities and equity	$950	$1,000
Accumulated depreciation	200	250	 
Fixed assets (net)	600	600
Total assets	$950	$1,000
The UNI Company Income Statement	 
For year ended December 31, 2002	 
(in millions)	 
 	 
Sales	$1,000	 
Cost of goods sold (COGS)	600	 
Depreciation	50	 
Selling, general, and administrativeexpenses (SG&A)	160	 
Interest expense	23	 
Income before taxes	$167	 
Tax	67	 
Net income	$100	 
 	 	 	 	 	 	 	 	 
Additional information:

UNI uses the last in first out (LIFO) inventory valuation method. The LIFO reserve is $20 for 2002 and $10 for 2001.
UNI leases equipment. These leases are classified as operating leases and require annual, end-of-year payments of $10 million for each of the next 5 years.
The COGS using first in, first out (FIFO) inventory valuation is:

A)	$580 million.
B)	$590 million.
C)	$610 million.
Question 26
The share prices of Solar Automotive Industries and Winnipeg Auto Unlimited are both $50 per share, and each company has 50 million shares outstanding. On September 30, both companies announced a $10 million stock buyback. Solar has a book value of $500 million, while Winnipeg has a book value of $900 million. How much did the book value per share (BVPS) of each company increase or decrease after the share repurchase?

 	Solar Automotive Industries	Winnipeg Auto Unlimited
 

A)	
Decrease by $0.13	Decrease by $0.13
 

B)	
Decrease by $0.16	Decrease by $0.13
 

C)	
Increase by $0.13	Increase by $0.16
 

Question 27
Stargell Industries follows a strict residual dividend policy. The company has a capital budget of $3,000,000. It has a target capital structure that consists of 30% debt and 70% equity. The company forecasts that its net income will be $3,500,000. What will be the company’s expected dividend payout ratio this year?

A)	30%.
B)	40%.
C)	35%.
Question 28
Define sensitivity analysis and Monte Carlo simulation.
 

 	Sensitivity analysis is:	 Monte Carlo simulation
 	A)	
when a firm looks at the sensitivity of only one variable, holding all others constant.	 	uses historical values from which repeated samples are drawn.
 

 	B)	
when a firm looks at the sensitivity of only one variable, holding all others constant.	 	assumes a specified distribution to generate random samples in order to estimate true distribution parameters.
 

 	C)	
when a firm looks at the sensitivity of many variables, holding some constant.	 	assumes a specified distribution to generate random samples in order to estimate true distribution parameters.
 

 	 	 	 
Question 29
An analyst has gathered the following expenditure information for three different firms, each of which has a sales level of $4 million.

Costs for firms under consideration
(in millions)
 	Firm A	Firm B	Firm C	 
Variable Costs	$2.00	$2.60	$2.40	 
Fixed Costs	$1.00	$1.30	$1.40	 
Interest Expense	$0.20	$0.00	$0.20	 
Which firm has the highest degree of operating leverage (DOL)?

A)	Firm B.
B)	Firm A.
C)	Firm C.
Question 30
Fuel Cell Enterprises is in a new and rapidly-evolving industry, and is being evaluated as an acquisition candidate by Auto Giant, Inc. There are about 10 firms that broadly resemble Fuel Cell, but none of its competitors have been taken over up to this point. Because of the nature of the firm’s technology, the level of risk is difficult to estimate and may change rapidly as the technology matures. Which type of analysis is likely to be most appropriate in the valuation of Fuel Cell?

A)	Comparable company analysis.
B)	Discounted cash flow analysis.
C)	Comparable transaction analysis.
Question 31
Suppose that a manufacturer of steel bridge beams (BridgeCo) acquires its main supplier of the steel (SteelCo) used to make the beams. After the merger is completed, the only surviving entity is BridgeCo. This is best described as a:

A)	vertical merger.
B)	subsidiary merger.
C)	horizontal merger.
Question 32
Which type of merger is most likely when the motivation for merging is to bootstrap earnings per share (EPS), and what does this imply about the lifecycle stage of the acquirer and the target?

A)	Conglomerate and different stages.
B)	Conglomerate and same stage.
C)	Horizontal and different stages.
Question 33
A major disadvantage of an American Depository Receipt (ADR) is that ADRs:

A)	are highly illiquid trading instruments that have high transaction costs and market impact costs.
B)	are expensive to administer and do not represent a proportionate interest in the foreign corporation.
C)	do not eliminate currency and economic risks associated with the foreign corporation.
Question 34
When attempting to build a risk premium into the required returns of stocks in a developing country, an analyst should use the:

A)	country spread model.
B)	modified Gordon Growth model.
C)	country’s weighted average cost of capital.
Question 35
If the growth rate in dividends is too high, it should be replaced with:

A)	A growth rate closer to that of gross domestic product (GDP).
B)	the average growth rate of the industry.
C)	the growth rate in earnings per share.
Question 36
The growth rate for a firm is forecast to be 8% for three years and 5% thereafter. If the required rate of return is 10%, and the dividend expected in year three is $4.67 per share, what will be the present value of the terminal value of the company?

A)	$57.14.
B)	$73.68.
C)	$91.11.
Question 37
Assume a minority shareholder holds 10% of a private firm’s equity, with the CEO holding the other 90%. Using normalized earnings, the value of the firm’s equity is estimated at $20 million. The CEO refuses to sell the firm and the minority shareholder cannot sell their interest easily. A discount for lack of marketability (DLOM) of 15% will be applied. A discount for lack of control (DLOC) will also be estimated. Using reported earnings instead of normalized earnings provides an estimated firm equity value of $19 million. Which of the following is closest to the value of the minority shareholder’s equity interest?

A)	$1,615,000.
B)	$1,700,000.
C)	$1,900,000.
Question 38
Using the following figures, calculate the value of the firm using the excess earnings method (EEM).

Working capital	$600,000
Fixed assets	$2,300,000
Normalized earnings	$340,000
Required return for working capital	5%
Required return for fixed assets	13%
Growth rate of residual income	4%
Discount rate for intangible assets	18%
 

A)	$2,978,571.
B)	$2,981,714.
C)	$3,027,111.
Question 39 –
The effect of capital expenditures in an LBO on cash flow and cash sweep, respectively, is:

< > td>	Cash flow	Cash sweep
 

A)	
Increase	Decrease
 

B)	
Decrease	Increase
 

C)	
Decrease	Decrease
 

Question 40
CMH Fund (“CMH”) is a recently established, actively managed commodity futures portfolio. In an effort to attract potential investors, the following two statements appear on CMH’s website:

Statement 1:	Since commodities returns are positively correlated with inflation and positively correlated with equity and bond returns, the portfolio is appropriate for equity and bond investors seeking diversification opportunities.
Statement 2:	Our portfolio is actively managed and rebalanced each year, which ensures that we may be able to generate gains even when investors expect the average prices of commodities underlying our portfolio to remain flat.
Statement 1 and 2 on CMH’s website, respectively, are:

< > td>	Statement 1	Statement 2
 

A)	
Correct	Incorrect
 

B)	
Correct	Correct
 

C)	
Incorrect	Correct
 

Question 41
Within the context of the 4-C’s of credit analysis, which of the following most accurately describes the “capacity” of a firm?

A)	The availability of cash flow and other assets required by a corporation to repay its obligations.
B)	The integrity of management and their commitment toward repayment of the loan.
C)	The terms and conditions of the loan agreement.
Question 42
Which of the following 4-C’s of credit refers to the terms and conditions of the lending agreement?

A)	Contracts.
B)	Covenants.
C)	Conditions.
Question 43
How is the price of an interest-only mortgage strip affected by declining mortgage rates in the market below the contract rate? The price of the interest-only strip:

A)	decreases.
B)	may increase or decrease.
C)	increases.
Question 44
Which of the following is a difficulty in valuing collateralized mortgage obligations (CMOs) using Monte Carlo simulation or any other methodology? The issuer has distributed:

A)	both the prepayment risk and interest rate risk equally into different tranches.
B)	the prepayment risk into different tranches.
C)	both the prepayment risk and interest rate risk unequally into different tranches.
Question 45
Calculate the no-arbitrage forward price for a 90-day forward on a stock that is currently priced at $50.00 and is expected to pay a dividend of $0.50 in 30 days and a $0.60 in 75 days.  The annual risk free rate is 5% and the yield curve is flat.

A)	$49.49.
B)	$50.31.
C)	$48.51.
Question 46
The credit risk in a forward contract is:

A)	positively related to the term of the contract.
B)	directly related to the contract value.
C)	only an issue for the long.
Question 47
Suppose a forward rate agreement (FRA) calls for the exchange of six-month London Interbank Offered Rate (LIBOR) two years from now for a payment of a fixed rate of interest of 6%. In other words, pay floating and receive fixed. Which of the following structures is equivalent to this FRA? A long:

A)	call and a short put on LIBOR with a strike rate of 6% and two years to expiration.
B)	put and a short call on LIBOR with a strike rate of 6% and two years to expiration.
C)	call on LIBOR with a strike rate of 6% and eighteen months to expiration.
Question 48
A U.S. firm (U.S.) and a foreign firm (F) engage in a plain-vanilla currency swap. The fixed rate at initiation and at the end of the swap was 5%. The variable rate at the end of year 1 was 4%, at the end of year 2 was 6%, and at the end of year 3 was 7%. At the beginning of the swap, $2 million was exchanged at an exchange rate of 2 foreign units per $1. At the end of the swap period the exchange rate was 1.75 foreign units per $1. At the end of year 1, firm:

A)	F pays firm U.S. $200,000.
B)	U.S. pays firm F 200,000 foreign units.
C)	U.S. pays firm F $200,000.
Question 49
Jennifer Watkins, CFA, is a portfolio manager at Q-Metrics. She has derived a 2-factor arbitrage pricing theory (APT) model of expected returns she intends to use in her portfolio management strategies. The two-factor APT equation, in which the two factors are confidence risk and industrial production, is:

E(RP) = RT-bill + 0.06βp,CONF + 0.09βp,PROD

Watkins determines the sensitivity to each of the two factors for three diversified portfolios as well as for her benchmark, the Wilshire 5000. The results of her analysis are shown in the table below.

Portfolio	Sensitivity to Conf. Risk Factor	Sensitivity to Indust. Prod. Factor
J	1.50	1.00
K	0.80	1.20
L	1.00	2.00
Wilshire 5000	1.00	1.50
βp,CONF: a market confidence factor

βp,PROD: industrial production factor

RT-bill: the Treasury bill rate of return, assumed equal to 4%.

Watkins compares her data and results to that of a colleague who uses the Capital Asset Pricing Model (CAPM) to analyze the same portfolios. She determines that her analysis is more appropriate for the given portfolios.

Part 1)
What is the expected return on Portfolio K according to the APT equation?

A)	15.6%.
B)	19.6%.
C)	22.0%.
Part 2)
Which of the following would be a valid reason for concluding that the APT analysis of Watkins is more appropriate than the CAPM analysis of her colleague?

A)	Investors have quadratic utility functions.
B)	The APT model is less restrictive than the CAPM.
C)	Investors can borrow and lend at the risk-free rate.
Part 3)
Which of the following is least likely one of the three equations needed to solve for the Industrial Production factor portfolio combination of J, K and L?

A)	1.50wJ + 1.20wK + 2.00wL = 0.
B)	1.50wJ + 0.80wK + 1.00wL = 0.
C)	wJ + wK + wL = 1.
Question 50
If an investors’ portfolio lies on the capital market line (CML) at the point where the CML touches the efficient frontier then this implies the investor has:

A)	100% of their funds invested in the market portfolio.
B)	less than 100% of their money invested in the market portfolio.
C)	a larger percentage of their money invested in the market portfolio and have loaned the remaining amount at the risk-free rate.
Question 51
Chris McDonald, CFA, is a portfolio manager for InvesTrack, a firm that seeks to closely track a selected index or indexes with each of its funds. McDonald is analyzing the returns of several of InvesTrack’s managed funds. The primary fund, Marketrack, or the MT portfolio, tracks a combination of a major stock index, bond index, real estate index, and a precious metals index. The stock index in the MT portfolio closely follows the S&P 500. The weights on each of the indexes in the MT target portfolio are approximately the same as the weights that the analysts at InvesTrack have estimated for these assets in the overall economy. McDonald believes that the MT portfolio is more likely to lie on the efficient frontier than a portfolio of only stocks. In a recent discussion with his assistants, Joseph Kreager and Maria Ito, McDonald said the low correlations between classes such as precious metals and real estate in the portfolio will improve the diversification of the portfolio. Kreager proposes that the ultimate goal should be to combine assets to achieve the minimum variance portfolio on the efficient frontier.

McDonald proposes that the returns of the MT portfolio can serve as a better representation of a market portfolio than an index like the Dow Jones Industrial Average or the S&P 500, which many analysts and portfolio managers use as a market proxy. For example, he asserts that betas estimated using the MT portfolio will be a more realistic representation of systematic risk, and this will make the betas more reliable in decisions concerning the effects of diversification. Furthermore, he suggests that the capital asset line (CAL) based upon the MT portfolio should be steeper than that based upon the S&P 500 alone. Kreager claims that that the MT portfolio will only have steeper CAL if the average returns of the indexes other than the stock index in the MT tracking portfolio are higher than the S&P 500. Ito responds that MT portfolio CAL will be higher than the S&P 500 CAL only if the standard deviation of the returns of the other indexes in the MT tracking portfolio are lower than the S&P 500.

Recently a customer holding a position in TTX stock wanted to explore the purchase of shares in a real estate investment trust (REIT). McDonald ran a regression of the return of the stock on the return of the MT portfolio, and he also ran a regression of the REIT’s return on the return of MT portfolio. Using monthly returns over three years, the results of the market model regressions are:

(Return of the TTX stock)t = −0.006 + 1.28 × (Return of MT portfolio)t + εt

(Return of the REIT) t = 0.014 + 0.60 × (Return of MT portfolio) t + ηt

The annualized standard deviations of the monthly returns for each of these investments are σTTXstock = 38, σREIT = 24, and σMT = 16. McDonald asks Kreager to compute the variance covariance matrix based upon these results. He also asks Kreager to compute the standard deviation of the unexplained risk for each of the assets.

After performing the regressions, Kreager investigates the property of beta drift. Using a monthly time-series, he finds that the betas of both the TTX stock and the REIT both follow an AR(1) process:

βt+1 = 0.1 + 0.9 × βt-1

Using this AR(1) process, Kreager tries to determine if the covariance between the two assets will increase or decrease in the next time period. He assumes the variance of the MT portfolio will remain the same.

After viewing the statistics, Ito gathers information on the S&P 500 and finds that its average return is 12%, and the standard deviation is 20%. The current risk-free rate is 5%. She wants to investigate whether McDonald’s assertion that the MT portfolio CAL is steeper than the S&P 500 CAL is true.

Part 1)
In Kreager and Ito’s responses to McDonald’s proposition that the CAL of the MT portfolio should be steeper than that of the S&P 500:

A)	both are incorrect.
B)	only one is correct.
C)	both are correct.
Part 2)
In response to Kreager’s assertion that the goal is to try to achieve the minimum variance portfolio on the efficient frontier, McDonald should:

A)	agree.
B)	agree only if it can be achieved with long positions in assets.
C)	disagree under any circumstances.
Part 3)
With the given information, Ito finds that the CAL of the S&P 500 is equal to the CAL of the MT portfolio if the return of the MT portfolio equals:

A)	8.6%.
B)	11.4%.
C)	10.6%.
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